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QUESTION 1

Which Cisco network management platform should be used for integration with DevOps toolchains and third-party
services in a service provider environment? 

A. Cisco NSO 

B. Cisco DNA Center 

C. Cisco ACI 

D. Cisco SD-WAN 

Correct Answer: A 

 

 

QUESTION 2

What is a characteristic of a VLAN? 

A. associated with IP address subnetworks 

B. consist of physically segmented LANs 

C. users access data from different VLANs 

D. associated with MAC address subnetworks 

Correct Answer: D 

 

 

QUESTION 3

A company has written a script that creates a log bundle from the Cisco DNA Center every day. The script runs without
error and the log bundles are produced. However, when the script is run during business hours, people report poor
voice quality of phone calls. What explains this behavior? 

A. The script is written in a low-level programming language where there is no memory safety. This causes a buffer
overflow and disruption on the network. 

B. The speed and duplex settings in Cisco DNA Center are set incorrectly, which causes the transfer to be too slow. 

C. The script is running in the Voice VLAN and causes delays and jitter in the subnet. 

D. Generating the logs causes the CPU on the network controller to spike, which causes delays in forwarding the voice
IP packets. 

Correct Answer: C 
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QUESTION 4

Which solution reduces costs from MPLS, improves application performance, and simplifies operations? 

A. Cisco NSO 

B. Cisco SD-WAN 

C. Cisco ACI 

D. Cisco DNA Center 

Correct Answer: B 

https://www.cisco.com/c/en/us/solutions/enterprise-networks/sd-wan/what-is-sd-wan.html 

 

QUESTION 5

What is a benefit of organizing code into modules? 

A. enables the code to be broken down into layers 

B. improves collaboration of the development team 

C. makes it easier to deal with large and complex systems 

D. enables the inclusion of more programming languages in the code 

Correct Answer: B 
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